JRA JERRICO

Refrigeration and Air-conditioning Services

B4, l9 Felixvill, Mangahan, Sto. Niño Bilibiran, Binangonan Rizal

Email: jraairconditioning@gmail.com Contact Nos. 09267189004/09615215615

Attn:Ma'am Mildred Uy

Uy Residences RSG.Compound Sitio Bayucan Drive Brgy.Sampaloc Tanay Rizal 09178361790 Date: July 16,2025

Brand QTY
Kolin 5 UNITS

FCU 1

2.5HP Wall Mounted

Event Area Area 81sqm.

Total pipe Length = 42 ft.Estimated Royal Cord = 47 ft.

Installations charge ₱ 8,500.00

Includes:

Labor

10 ft.copper tube 10ft.Royal Cord Consumables

Installations Materials Description Qty Price per qty Subtotal 5⁄8 x 1/4 400.00/ft Copper Tube 32 ft. 12,800.00 Royal cord (com. wire) 100.00/ft. 3,700.00 2mm x 4c 37 ft. Royal cord (ACCU-BREAKER) 3.5mm x 3c 5ft. 60.00/ft 300.00 Pvc Blue 3/4 x 10 6pcs. 150.00/pc 900.00 Drain hose White 7ft. 25/ft. 175.00

₱ 17,875.00

Estimated CHARGES P 26,375.00

FCU2

2.5HP Wall Mounted

Event Area Area 81sqm.

Total pipe Length = 40 ft. Estimated Royal Cord = 45ft.

Installations charge P 8,500.00

Includes:

Labor

10 ft.copper tube 10ft.Royal Cord

Consumables

Price per qty Installations Materials Description Subtotal Qtv Copper Tube 5⁄8 x 1/4 30 ft. 400.00/ft 12,000.00 Royal cord (com. wire) 2mm x 4c 35 ft. 100.00/ft. 3,500.00 Royal cord (ACCU-BREAKER) 3.5mm x 3c 5ft. 60.00/ft 300.00 Pvc Blue 150.00/pc 900.00 3/4 x 10 6pcs. Drain hose White 7ft. 25/ft. 175.00

₱ 16,875.00

Estimated CHARGES \$\beta\$ 25,375.00

FCU3 3.0TR

Event Area Area 81sqm.

Total pipe Length = 53 ft. Estimated Royal Cord = 58 ft.

Installations charge ₱ 11,000.00

Includes: Labor

10 ft.copper tube 10ft.Royal Cord Consumables

Installations Materials Description Qty Price per qty Subtotal Copper Tube 5/8 x 3/8 43 ft. 400.00/ft 17,200.00 100.00/ft. Royal cord (com. wire) 2mm x 4c 48ft. 4,800.00 Royal cord (ACCU-BREAKER) 3.5mm x 3c 5ft. 60.00/ft 300.00 Pvc Blue 3/4 x 10 150.00/pc 900.00 6pcs. Drain hose White 7ft. 25/ft. 175.00

₱ 28,375.00

Gym Area

2.0HP Wall Mounted

Event Area Area 19sqm.

Total pipe Length = 10 ft. Estimated Royal Cord = 15 ft.

Installations charge ₱ 7,500.00

Includes: Labor

> 10 ft.copper tube 10ft.Royal Cord Consumables

Installations Materials Description Qty Price per qty Subtotal 1/2 x 1/4 10 ft. Copper Tube Royal cord (com. wire) 100.00/ft. 500.00 2mm x 4c 5ft. Royal cord (ACCU-BREAKER) 3.5mm x 3c 5ft. 60.00/ft 300.00 Pvc Blue 150.00 ¾ x 10 1pcs. 150.00/pc Drain hose White 1/2 7ft. 25/ft. 175.00

₱ 1,125.00

Estimated CHARGES P 8,625.00

OFFICE ROOM 1.5HP Wall Mounted

Event Area Area 16sqm.

Total pipe Length = 10 ft. Estimated Royal Cord = 15 ft.

Installations charge ₱ 7,500.00

Includes: Labor

10 ft.copper tube 10ft.Royal Cord Consumables

Installations Materials Description Qty Price per qty Subtotal 5⁄8 x 1/4 10 ft. Copper Tube Royal cord (com. wire) 2mm x 4c 5 ft. 100.00/ft. 500.00 Royal cord (ACCU-BREAKER) 60.00/ft 300.00 3.5mm x 3c 5ft. Pvc Blue 3/4 x 10 6pcs. 150.00/pc 150.00 Drain hose White 175.00 1/2 7ft. 25/ft.

₱ 1,125.00

Estimated Charges P 8,625.00

TOTAL ESTIMATAED CHARGE ₱ 108,375.00

Circuit Breaker weatherproof 5pcs(1000/pcs) 5x1000 = 5,000.00

1.a.2.5hp (30amps) 2 units

2.b. 3TR 9 40amps) 1 unit

3.c. 2.0hp (30amps) 1 unit

4.d.1.5hp (20amps) 1 unit

Estimated Total Charge ₱ 113,375.00

(Less Discount of 10% on Actual Total) = ₱ 113,375.00 x 10% = 11,337.50 ₱ 113,375 - 11,337 = 102,038.00

Total Charge ₱ 102,038.00

Installation note:

- 1..Mechanical Plans ,Permits,Electrical permit not included.
- 2.Deflector,Masonary,carpentry,chipping & plastering ,finishing & restoration are not included in the installation
- 3. Air conditioning drain line and electrical power supply should be provided by the customer's contractor.

Installation Warranty

One (1) Yr warranty for Parts & service 10yrs warranty for compressor

Mode of Payment Cash or Bank Transfer after installation

For installation payment method Cash or Bank Transfer

Bank Details: Metro Bank

Owner

Account name: Jerico R. De vera Account #: 3453345441418

Prepare by CONFORME

Monaliza A. Pepito
Signature Over Printed Name

Jerico R. De Vera Date: